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Pearson’s product-moment correlation

data: dose and len
t = 10.2501, df = 58, p-value = 1.243e-14
alternative hypothesis: true correlation is not equal to O
95 percent confidence interval:
0.6892521 0.8777169
sample estimates:
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RNGkind ("Mersenne-Twister")

set.seed (1)

X <- rnorm(100,10,1)

Y <- X + runif(100,0,1)

summary(res <- 1Im(Y"X))

XX <- data.frame(X=seq(min(X) ,max(X),length=20))
plim <- predict(res, XX, interval="prediction")
clim <- predict(res, XX, interval="confidence")
plot(X,Y)

matlines(XX,plim,col=1,1ty=c(1,2,2))
matlines(XX,clim,col=1,1ty=c(1,3,3))
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Call:
Im(formula = Y ~ X)
Residuals:
Min 1Q Median 3Q Max
-0.39958 -0.24095 -0.04863 0.20490 0.57297
Coefficients:
Estimate Std. Error t value Pr(>|tl|)
(Intercept) 0.17392 0.31703 0.549 0.585
X 1.02583 0.03124 32.837 <2e-16 **x*
Signif. codes: O ’*xx’ 0.001 ’**’ 0.01 ’%’ 0.05 ’.” 0.1’ ’ 1
Residual standard error: 0.2792 on 98 degrees of freedom
Multiple R-Squared: 0.9167, Adjusted R-squared: 0.9158
F-statistic: 1078 on 1 and 98 DF, p-value: < 2.2e-16 J/
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conc <- ¢c(0, 0.5, 1, 2)
abs <- c(0.012, 0.058, 0.104, 0.193)
plot(abs~conc)
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res <- 1lm(abs~conc)
abline(res)
summary (res)
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attach(airquality)
shapiro.test(Wind)
shapiro.test (0zone)
layout (t(1:2))
hist(Wind)

hist (0zone)

Histogram of Wind Histogram of Ozone
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layout (t(1:2))

c0zone <- log(0zone+10)

shapiro.test (c0zone)
plot(cOzone~Wind,yaxt="n",ylab="0zone",ylim=c(0,log(210)),
main="1973 00 NYOOUOOOOOOO (Ozone) OO (Wind) OO OO™)
yi <- 0:4%50

axis(2,log(yi+10),yi)

res <- 1m(cOzone~Wind)

X <- data.frame(Wind=seq(min(Wind) ,max(Wind),length=20))

Y <- predict(res,X,interval="predict")
matlines(X,Y,col=1,1ty=c(1,2,2))
plot(exp(fitted.values(res))-10,residuals(res),main="000000",x1lab="0zone (expected)")
exp(predict(res,list(Wind=15) ,interval="confidence"))-10
exp(predict(res,list(Wind=25),interval="confidence"))-10
summary (res)

detach(airquality)
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